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Chapter 1: Customer Focus and Managing Customer Loyalty

 SEQ CHAPTER \h \r 1CHAPTER ONE

Customer Focus and Managing Customer Loyalty
TRUE/FALSE 
1. 
Businesses that understand change and are out in front leading, and often creating, change have a strong external focus.

(True; easy; p. 5) (AACSB: Analytic)
2. 
An essential performance metric is customer satisfaction.

(True; easy; p. 8) (AACSB: Analytic)
3. 
A customer service index (CSI) of 75 or more is an indication of a successful, market-driven organization.

(False; difficult; p. 8)

4. 
Managing to the average customer satisfaction index (CSI) enhances a business’ understanding of customer satisfaction and opportunities for increased profits.

(False; moderate; p. 8) (AACSB: Reflective Thinking)
5. 
Sales and market share are excellent leading indicators of operating performance.

(False; moderate; p. 9) (AACSB: Reflective Thinking)
6. 
A market-based management approach is to encourage dissatisfied customers to complain.

(True; easy; p. 12)

7. 
To achieve a specific higher level of profitability, a firm must improve customer satisfaction and retention by the same magnitude as the desired increase in profitability.

(False; moderate; p. 12) (AACSB: Reflective Thinking)
8. 
It is possible to increase net profit with no change in market share or sales revenue.

(True; moderate; p. 15)

9. 
A retained customer is a satisfied customer.

(False; difficult; p. 15) (AACSB: Analytic)
10. 
The life expectancy of a customer grows linearly as a business moves to higher levels of customer retention.

(False; moderate; p. 17)

11. 
The longer the rate of customer retention, the longer the average customer life expectancy and the greater the customer value.

(True; moderate; p. 18) (AACSB: Analytic)
12. 
The customer loyalty index (CLI) is a function of customer satisfaction, customer lifetime value and customer recommendation.

(False; moderate; p. 21) (AACSB: Analytic)
13. 
A market-oriented business strives to keep all of its customers.

(False; moderate; p. 22)

14. 
The book defines “underachiever” customers as not profitable and not loyal.

(False; moderate; p. 23)

15. 
The extent to which a manager has a strong market orientation is directly related to his or her level of marketing knowledge.

(True; moderate; p. 26)

MULTIPLE CHOICE  

16. 
Which of the following is NOT characteristic of a company with a strong market orientation?

a. 
They are in tune with customers’ needs.
b. 
They understand competitors’ strategies.
c. 
They monitor changing environmental conditions.
d. 
They have a strong internal focus.
e. 
They seek to continuously improve.
(d; moderate; p. 5-6) (AACSB: Analytic)
17. 
Which of the following is NOT one of the benefits of a strong customer focus?

a. 
outperforming competition in delivering higher levels of customer satisfaction

b. 
can charge higher prices than competitors

c. 
long-run survival

d. 
create greater shareholder value

e. 
higher profits in the short run

(b; moderate; p. 6)

18. 
The first step in “How to Underwhelm Customers and Shareholders” is to _____.

a. 
have low levels of customer satisfaction

b. 
have little or no customer loyalty

c. 
have little or no customer focus

d. 
have high cost of marketing

e. 
use accounting maneuvers to drive financial results

(c; easy; p. 7) (AACSB: Analytic)
19. 
The end result of underwhelming customers and shareholders is _____.

a. 
unfocused value proposition

b. 
pressure for short-run results

c. 
disappointing profit performance

d. 
high rate of customer turnover

e. 
little or no customer loyalty

(b; moderate; p. 7) (AACSB: Reflective)
20. 
The first priority of market-based management should be _____.

a. 
to keep good customers

b. 
to maximize profit

c. 
to keep all customers

d. 
to assess customers’ profitability

e. 
to maximize sales

(a; difficult; p. 7)

21. 
Although a market-based business will use several external metrics to track market performance, an essential performance metric is _____.

a. 
profits

b. 
sales

c. 
market share

d. 
customer satisfaction

e. 
customer lifetime value

(d; moderate; p. 8) (AACSB: Analytic)
22. 
One common measure of customer satisfaction that is derived from customers’ ratings of their overall satisfaction on a six-point scale ranging from very dissatisfied to very satisfied is the _____.

a. 
leading indicator (LI)

b. 
customer life (N)

c. 
customer retention (CR)

d. 
customer loyalty index (CLI)

e. 
customer satisfaction index (CSI)

(e; easy; p. 8) 
23. 
To create an overall customer satisfaction index (CSI) for a given sample of customers, a business _____.

a. 
computes the average of those customers’ satisfaction ratings

b. 
sums all of those customers’ satisfaction ratings

c. 
computes the average of those customers’ satisfaction ratings and divides it by the industry average

d. 
computes the average of those customers’ satisfaction ratings and divides it by a leading competitor’s average

e. 
sums all of those customers’ satisfaction ratings and divides by 100

(a; moderate; p. 8) (AACSB: Analytic)
24. 
A business determines that 75% of its customers are satisfied.  This business also learns that 80% of a leading competitor’s customers are satisfied.  If this business implements a program to reach 80% customer satisfaction, this is called _____.

a. 
competitive parity

b. 
focused value proposition

c. 
managing to the averages

d. 
wide-angle view of customer satisfaction

e. 
forward-looking indicator

(c; moderate; p. 8) (AACSB: Reflective)
25. 
Which of the following is an excellent market-based performance metric and barometer of future revenues and profits?

a. 
customer satisfaction

b. 
shareholder dividends

c. 
sales

d. 
market share

e. 
ROI

(a; moderate; p. 9)

26. 
Assume a company has a 10% market share of a one million customer market.  If 10% of this company’s customers are dissatisfied, how many are likely to complain to the company?

a. 
400

b. 
4,000

c. 
40,000

d. 
400,000

e. 
not enough information available to determine the answer

(a; difficult; p. 10 and Figure 1-6) (AACSB: Analytic)
27. 
Build-Rite has a 10% market share of a one million customer market, but 10% of Build-Rite’s customers are dissatisfied.  Statistics suggest that 4% of dissatisfied customers will complain, but 75% of the customers that do complain are retained.  However, only 5% of dissatisfied customers who do not complain are likely to be retained.  How many of Build-Rite’s dissatisfied customers will likely exit? 

a. 
92

b. 
100

c. 
780

d. 
9120

e. 
9220

(e; difficult; p. 20 and Figure 1-6)

28. 
Lost customers _____.

a. 
are likely to complain before they leave

b. 
are generally dissatisfied or somewhat satisfied customers

c. 
have no impact on the net marketing contribution when they leave

d. 
are usually more profitable than satisfied customers

e. 
are lost forever

(b; moderate; p. 13-14) (AACSB: Analytic)
29. 
New customers _____.

a. 
are usually the profit driver of a business

b. 
are a company’s best customers

c. 
have no impact on the net marketing contribution

d. 
are usually less profitable than retained customers

e. 
generally buy more than retained customers

(d; moderate; p. 13-14) (AACSB: Analytic)
30. 
All of the following are ways in which retaining dissatisfied customers cost the firm extra resources EXCEPT _____.

a. 
additional work for the sales forces

b. 
price concessions

c. 
adjustments to terms of sale

d. 
greater customer service

e. 
greater replacement costs

(e; moderate; p. 13)

31. 
The margin per customer is equal to the _____.

a. 
revenue per customer minus the variable cost per customer

b. 
revenue per customer minus the fixed cost per customer

c. 
revenue per customer minus the direct marketing expense per customer

d. 
revenue per customer minus the total cost per customer

e. 
revenue per customer minus operating expenses

(a; moderate; p. 14) (AACSB: Analytic)
32. 
Time Works, Inc. incurs $400 in variable costs and $60 in marketing expenses for each $800 in sales revenue generated by a retained customer.  If there are 150,000 retained customers, what is Time Works, Inc.’s net marketing contribution from these customers?

a. 
$400

b. 
$340

c. 
$51,000,000

d. 
$60,000,000

e. 
$120,000,000

(c; hard; p. 13-14, Figure 1-8)

33. 
Hood Industrials received $800 in sales revenue by an average retained customer.  To attain that $800, the company incurred $400 in variable costs and $60 in direct marketing expenses for each retained customer.  Each lost customer generated $200 in sales revenue while costing the company $150 in variable costs and $100 in direct marketing costs.  Each new customer generated $400 in sales revenue, but Hood had to incur $300 in variable costs and $300 in direct marketing expenses for each new customer attained.  If there are 150,000 retained customers, 50,000 lost customers, and 50,000 new customers, which type of customer generates the lowest net marketing contribution?

a. 
new

b. 
retained

c. 
lost

d. 
dissatisfied

e. 
The net marketing contribution is the same for all types of customers.
(a; hard; p. 14, Figure 1-8) (AACSB: Reflective)
34. 
The most significant impact of satisfying and retaining customers is _____.

a. 
that a business can redirect marketing efforts to better serve dissatisfied customers

b. 
that a business can redirect marketing efforts to attaining new customers

c. 
that a desired increase in the level of profitability requires an increase in sales volume of only half as much

d. 
that a business can eliminate the need for advertising

e. 
that it can result in tremendous financial leverage

(e; moderate; p. 15)

35. 
Which of the following is likely to retain customers, despite poor levels of customer satisfaction?

a. 
water company

b. 
restaurant

c. 
grocery store

d. 
bank

e. 
gas station

(a; moderate; p. 15-16) (AACSB: Reflective)
36. 
Which of the following is least likely to retain even satisfied customers?

a. 
water company

b. 
hospital

c. 
restaurant

d. 
company health insurance provider

e. 
residential local phone service provider

(c; moderate; p. 16) (AACSB: Reflective)
37. 
A market-based business looks at customers as _____.

a. 
lifetime partners

b. 
individual purchase transactions

c. 
conquests

d. 
investments

e. 
exchange agents

(a; easy; p. 16) (AACSB: Analytic)
38. 
The average life expectancy of a customer for a company with 75% customer retention is _____.

a. 
1 year

b. 
2 years

c. 
3 years

d. 
4 years

e. 
5 years

(d; moderate; p. 16-17)

39. 
What is the customer retention for a company given an average customer life of four years?

a. 
4%

b. 
40%

c. 
80%

d. 
75%

e. 
100%

(d; moderate; p. 17)

40. 
An increase from 80% to 90% in customer retention would have what effect on the average customer life?

a. 
an increase of 10 years

b. 
an increase of 100%

c. 
an increase of 50%

d. 
an increase of 5%

e. 
an increase of 200%

(b; hard; p. 17) (AACSB: Analytic)
41. 
In general, it costs _____ times more to replace a customer than it costs to keep a customer.

a. 
two

b. 
three

c. 
four

d. 
five

e. 
six

(d; moderate; p. 18) (AACSB: Analytic)

42. 
To estimate the lifetime value of a customer at a given rate of customer retention, you need to compute the _____ of the customer’s cash flow.

a. 
net present value

b. 
total cash value

c. 
future value

d. 
highest level

e. 
average

(a; easy; p. 18) (AACSB: Analytic)
43. 
Which of the following does NOT affect customer lifetime value?

a. 
rate of customer retention

b. 
average customer life expectancy

c. 
net operating expenses

d. 
discount rate

e. 
customer cash flow

(c; moderate; p. 18)

44. 
The present value of $1.00 received after 1 year if the business has a discount rate of 10 percent is _____.

a. 
$1.10

b. 
$2.00

c. 
$0.10

d. 
$0.91

e. 
$0.75

(d; moderate; p. 18, 34) 
45. 
Estimate the net present value of the customer cash flow with an 80% customer retention rate and a 10% discount rate if the initial cost to acquire this customer is $50, and the business receives $30 in revenues in the first year, $40 in the second, $45 in the third, $50 in the fourth, $55 in the fifth, and $0 in the sixth.

a. 
$112

b. 
$162

c. 
$170

d. 
$220

e. 
$90

(a; hard; p. 18)

46. 
Which of the following is NOT a component of customer loyalty?

a. 
customer satisfaction

b. 
customer retention

c. 
customer recommendation

d. 
customer lifetime value

e. 
All of the above are components of customer loyalty.
(d; moderate; p. 21) (AACSB: Analytic)
47. 
What three components combine to form the customer loyalty index (CLI)?

a. 
customer lifetime value, customer satisfaction and customer advocacy

b. 
net present value, customer value and customer satisfaction

c. 
customer life, customer retention and customer recommendation

d. 
discount rate, customer lifetime value and customer satisfaction

e. 
customer satisfaction, customer retention and customer recommendation

(e; easy; p. 21) (AACSB: Analytic)
48. 
How could a “somewhat satisfied” customer (CSI = 65) with a retention value of .90 have a customer loyalty index of 5.85?

a. 
This customer has a low likelihood of recommending this brand or company to others.
b. 
This customer has a low customer lifetime value.
c. 
This customer has a short customer life.
d. 
This customer is really more satisfied than what the CSI indicates.
e. 
This customer has only a 20% likelihood that he or she will recommend this brand or company to others.
(a; moderate; p. 21-22)

49. 
A “captured customer” most likely _____.

a. 
has a very high customer satisfaction index (CSI)

b. 
has a low rate of customer retention

c. 
will not to recommend a brand or company to others

d. 
has a high customer loyalty index (CLI)

e. 
has a very low customer satisfaction index (CSI)

(c; moderate; p. 22) (AACSB: Reflective )
50. 
Which of the following is NOT part of what a Customer Relationship Management system will help the firm identify?

a. 
customers it wants to keep

b. 
customers it should strive to abandon

c. 
customers it should pursue

d. 
customers it should avoid

e. 
customers it wishes to partner with

(e; difficult; p. 22)

51. 
The strategy of selectively investing in one-on-one relationships to build customer loyalty is recommended for which type of customer?

a. 
high potentials

b. 
nonprofits

c. 
underachievers

d. 
core customers

e. 
spinners

(a; moderate; p. 23) (AACSB: Reflective)
52. 
_____ are the “unpolished gems” of a business’s customer portfolio.  They are loyal but not highly profitable, some even unprofitable.  The appropriate customer relationship marketing strategy is to invest in customer-relationship programs that provide more buying opportunities for these customers.

a. 
Top performers

b. 
Underachievers

c. 
High Potentials

d. 
Nonprofits

e. 
Spinners

(b; easy; p. 23-24)  
53. 
Sally shopped at Dillard’s Department store for two years but stopped because she was dissatisfied and started shopping at Parisian’s instead.  Since Sally was a profitable customer for Dillard’s, the store conducted research to learn the reasons for customer dissatisfaction.  After conducting research, Dillard’s rectified some of the problems that had dissatisfied customers and sent Sally an invitation and a $10 gift certificate to encourage her to come back.  To Dillard’s, Sally is a(n) _____.

a. 
new customer

b. 
underachiever customer

c. 
high potential customer

d. 
win-back customer

e. 
top performer

(d; moderate; p. 24) (AACSB: Reflective)
54. 
An effective customer focus relies on a combination of all of the following EXCEPT _____.
a. 
marketing attitudes
b. 
market-based metrics
c. 
internal focus

d. 
practices
e. 
All of the above are characteristics of a business with a strong customer orientation.
(c; moderate; p. 26) (AACSB: Reflective)
55. 
The strength of a manager’s customer focus is correlated to their level of ____.
a. 
marketing knowledge

b. 
marketing imperialism

c. 
marketing leadership

d. 
employee satisfaction

e. 
All of the above are fundamental forces that drive the degree to which a manager posses a customer focus.
(a; moderate; p. 26)

ESSAY 
56. 
Name and describe the process that results in “underwhelmed” customers and shareholders.

Answer:

A business with a weak marketing orientation has only a superficial or poor understanding of customer needs and competition.  This little or no customer focus translates into an unfocused value proposition and minimal customer satisfaction.  This results in low levels of customer loyalty because customers are easily attracted to competitors.  Marketing efforts to hold off customer switching are expensive, as is the cost of acquiring new customers to replace lost customers.  Low levels of customer loyalty and higher marketing costs contribute to disappointing business profits.  In response, short-term sales tactics and accounting maneuvers are used to bolster short-run financial results.  However, investors and Wall Street analysts are able to see through this facade, and shareholder value generally stagnates.  Management is now under even greater pressure to produce short-run profits.  This means that there is not the time, the inclination, or the motivation to understand customer needs and to unravel competitors’ strategies, so the vicious circle of poor performance continues.

(moderate; p. 6-7, Figure 1-1) (AACSB: Reflective)
57. 
Name and describe the four customer types and discuss strategies for managing customer loyalty and profitability for each.

Answer:

The four customer types vary with regard to their profitability and their loyalty:

(1)
Top Performers – these customers are the “golden nuggets” or “crown jewels” for any business.  The combination of above-average loyalty and customer profitability creates a majority of a business’s profits.  The primary objective of customer relationship marketing is to develop sustainable, long-term, one-on-one relationships with these customers using customized programs that deliver superior levels of customer satisfaction.

(2)
Underachievers – these customers are the “unpolished gems” of a business’s customer portfolio.  They are loyal but not highly profitable, some even unprofitable.  The business is underachieving with respect to the profit potential of these customers.  The appropriate customer relationship marketing strategy is to invest in customer-relationship programs that provide more buying opportunities for these customers.

(3)
High Potentials – these are the “rough-cut diamonds” of a business’s customer portfolio.  They have high profit potential but are not loyal customers.  They are often mismanaged opportunities and are vulnerable to competitors’ efforts and can easily be lured away.  An effort to build loyalty among these customers is important to retain them and the profits they produce.  The primary goal of customer relationship marketing is to invest in building customer loyalty through customized offerings that will enhance customer satisfaction and retention.

(4)
Nonprofits – these customers include a wide range of customers from potential “customer gems” to “fools gold.”  These are new customers who are not profitable and not loyal.  Many new customers have the potential to develop into highly profitable and loyal customers; others could simply buy and exit.  Those who exit generally do not fit the business’s offerings and are unlikely to be satisfied and retained no matter how hard the business tries.  Although it would be best to avoid these customers, as first-time customers, they need to be managed differently.  These customers lack any experience with the business and need above-average service to acclimate them to the business’ products and services.  How they are managed greatly influences their level of profitability and loyalty.

(moderate; p. 22-26) (AACSB: Reflective)
MINI-CASE
Your brother, Joe, owns a local oil change business in a small city in the mid-west.  You are taking a marketing class in college, and you asked Joe for some information about his business for a class project.  You determined that Joe’s revenues indicate that he has approximately 10% of a 100,000-customer market.  When discussing customer satisfaction with Joe, he stated that perhaps some of his customers might be dissatisfied, but that he didn’t think is was any big deal to worry about because only a few have complained to him.  However, he did say that he’s noticed that some of his customers are not coming back.  You wanted to impress Joe with your knowledge and convince him that he should worry about customer satisfaction, so you conducted a survey of a sample of his customers and found that the overall customer satisfaction index (CSI) was 70, an average customer life was 5 years, but that only 20% of Joe’s customers surveyed would recommend Joe’s business to others.   Your results lead you to conclude that approximately 2% of Joe’s customers were “dissatisfied” with his service.

58. 
Mini-Case Question.  If well-documented studies related to customer dissatisfaction and exit hold true, Joe might expect how many of his customers to complain?

a. 
4

b. 
8

c. 
10

d. 
40

e. 
80

(b; difficult; p. 10) 
59. 
Mini-Case Question.  Well-documented studies related to customer dissatisfaction and exit also indicates that 95% of the customers who do not complain will tell, on average, nine others of their dissatisfaction.  Approximately how many does that translate to in this case?

a. 
70

b. 
200

c. 
1600

d. 
1800

e. 
2000

(c; difficult; p. 11)

60. 
Mini-Case Question.  Based on the customer loyalty index (CLI) for Joe’s customers, what type of customer would you tell Joe that he has?

a. 
top performers

b. 
underachievers

c. 
nonprofits

d. 
high potentials

e. 
captured customers

(e; difficult; p. 22-26) (AACSB: Reflective)
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